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Solutions

a) Tan(θ) = 

    Tan(θ) = 0.6667

4
6

b) Tan(θ) = 

    Tan(θ) = 0.7778

3.5
4.8

c) Tan(x) = 

    Tan(x) = 0.4000

2
5

d) Tan(x) = 

    Tan(x) = 1.0000

3
3 e) Tan(x) = 

    Tan(x) = 0.7500

6
8

f) Tan(x) = 

   Tan(x) = 1.8750

15
8
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a) Tan(θ') = 

    Tan (θ') = 1.5000
4
6 b) Tan(θ') = 

    Tan(θ') = 1.3714
3.5
4.8 c) Tan(A) = 

    Tan(A) = 2.5000
2
5

d) Tan(A) = 

    Tan(A) = 1.0000

3
3 e) Tan(D) = 

    Tan(D) = 1.3333
6
8 f) Tan(E) = 

   Tan(E) = 0.5333
15
8

a) tan(A) = 

    tan(A) = 0.7272...

A = tan­1(0.7272...)

A = 36Ο

11
8

   tan(C) = 

   tan(C) = 1.375

A = tan­1(1.375)

A = 54Ο

11
8

c) tan(R) = 

    tan(R) = 1.6

A = tan­1(1.6)

A = 58Ο

5
8

   tan(P) = 

   tan(P) = 0.625

A = tan­1(0.625)

A = 32Ο

5
8
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b) tan(15Ο) = 

    3.8tan(15Ο) = y

1.0182 = y

1.0 m = y

3.8
y

d) tan(38Ο) = 

    5.2tan(38Ο) = x

4.0627 = x

4.1 m = x

5.2
x

    tan(45Ο) = 

    4.0627tan(45Ο) = p

4.0627 = p

4.1 m = p

x
p

x

c) tan(43Ο) = 

    12tan(43Ο) = x

11.1902 = x

11.2 m = x

12
x

b) tan(37Ο) = 

    8tan(37Ο) = x

6.0284 = x

6.0 m = x

8
x
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b) tan(65Ο) = 

    11tan(65Ο) = x

23.5896 = x

23.6 m = x

11
x

a) tan(33Ο) = 

    8tan(33Ο) = x

5.1953 = x

5.2 m = x

8
x

    <M = 180 ­ 90 ­ 64
<M = 26Ο

tan(26Ο) = 

    18tan(26Ο) = x

8.7792 = x

8.8 m = x

18
x

x

26Ο

OR     tan(64Ο) = 

    xtan(64Ο) = 18

x = 

x = 8.7792

x = 8.8 m

18
x

tan(64Ο)
18
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10 m

35Ο

35Ο
35Ο

x

R

B

tan(35Ο) = 

    10tan(35Ο) = x

7.0021 = x

7 m = x

10
x

Rocco is 7 metres above the 
ground.

Biff is double this, which is 14 
metres above the ground.

Slope = 
Opposite (Rise)
Adjacent (Run)

tan(x) = 

x = tan­1(0.75)

x = 36.8699

x = 37Ο

3
4
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8 m x

1 m

1 m

tan(x) = 

x = tan­1(0.125)

x = 7.1250

x = 7.125Ο

1
8

Dotted line cuts the goal in half

Lars can shoot within an angle of 2x

= 2(7.125) 

= 14.25

= 14Ο

r = 50, v = 100

tan(θ) =

tan(θ) =

tan(θ) = 20.4082

θ = tan­1(20.4082)

θ = 87.1948Ο

1002
9.8(50)
10000
490

The bank angle required is 87Ο
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